
3t~ li!I-~ef 

g c: ffil cpr fcr~cl lSI 0 I t!Ci' oa I ~ I 

4.1 ~ 

4.2 ~ zsr m~~ 

RIE Li
bra

ry 
Bho

pa
l



3f£i!l1 \!I- 4 

4.1 ~fcl:tCbI _. 

"R~TIUGf am -gcij {i:2'C1ICtACh ~ 1Ifl<1 ma- t I 3Rf:· (JffQ"Gf "QCT ~di!li¢Gt 

m-. fat! 'l"l i~ cB) em ~ mtTGt" "iffTG1T \jfRfT ~ I 'l"l i~cB) em 
'li'2ilGtIC"if1¢ !:IC!rri1 m 'l:q~Cf)'2UI cpr ~ meror "iffTG1T um=tT ~ I 

um=tT ~ I. . fm~ &1RrriJI('I faRT~ am ~ &1 Cl61 '2 3femT ~ 

~~ zsr '2:q~Cf)'2UI ct>N> 3GfCf5T 'l"lId1Ia41¢'2UI 'l"li~cB) am PcPm 

'2"1i~cB) fcITom, m~~ l!Ci 'l:q~Cf)'2UI m ~ ~~~ em 
WI" ~ ~ I 'l"l i~ cB) esr 3q 4) <)I 6d1 !:I C! rrO cpr m~~· '(!Ci" &11 <@Oll 

CfR" 3GRl qRUIld1 IDl<'f ~ l;g ~ ~ I 

Fcr~Rm 3:r3<IRT ~ 3'2R) qRulld1 IDt(f 'CJR !:IC!rrO c6T 

&1IMI ClRGlT ~TIU cpr 1!CP ~ ffi'l"'2"11 iRrr ~ I ~ 3:r~ cpr 1!CP 

'" 3qlljdl 

~ eft CfR" ~ ~ I '2"1 i~ cB) (i~ em 3~ 3m eft ~ 3 q '!!Cfi'1 ('II 

c;reftl 
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RIE Li
bra

ry 
Bho

pa
l



dliaCbI SI5.4.1 

class interval frequency percantage 

81-90 50 41.66 

71-80 50 41.66 

61-70 16 13.33 

51-60 4 3.33 

dl~q)1 'SP.4.2 

~fiOT ~ vrca YIC(1j4)l CI5T 1Dft61<pC'I fijq'lUI - 

60 I 

71-80 61-70 51-60 81-90 

• frequency 

• percantaga 
RIE Li

bra
ry 

Bho
pa

l



qfiCb(YQci11 1 cpcffi 9cft c5 fcrerrfekIT c5 fc*Jr '2"1Cfi1ci1C1I c5 ID=a ~f'~ol 

-at ~ mefcp 3R=R Gftt % I 

C1lfutCbI ¢CI1iCb 4.3 

~ fc*Jr ~ "d1"~ <f1IGico ~~T It I 

(M) 
WilC1G1 

(dt) tRT~ 
(S.D.) ~ 

m 8>1?lIQ 5.196 60 81.83 
'2~ <f11 G1 C11 cf5 
ID=a 118 6.30 

BT?f 60 73.83 8.39 
~~colol 

1 1 8 dfCBT if C11k1CbI ~ 

0.05 = 1.98 

0.01 = 2.62 

cp~ 9 cIT ~ fcrerrfefm cB fficrr {i d'11 G1 dl cf5 ~ 'tR:c;cpl 0 I dl 

~ mefcp 3R=R Gftt %, <l6 ~~ q RCb(YQ Gil 31 '241 CQC1 e;lcft % I 

if -cm~ it Wl<l if <JTUTGff ~ 6 3 0 % <l6 ~ if. 

C11k1CbI c5 1 1 8 dfcf5 0.0 5 3~ 0.0 1 ~ cfj ~ it ~ % I 
~mk1l! <l6 ~~ qRCb(YqG'11 3f\?-dlCf2C1 $T u=rrcfi % I 
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RIE Li
bra

ry 
Bho

pa
l



C11R1cJ)l wCFIICb 4 4 

m . It I 'iR ~ (ff~ CHI GiCb ~~T - 
(M) 

fclilC1Gi 
(dt) -q?tmur , 

(S.D.) ~ 

m c.illcAlUI 60 79.83 6.92 

'2"1 CHI Gi <'11 
~~ 60 75.3 8.94 118 2.98 

cf5m 

<t~UI 

1 1 8 dfcpr it <'11fc:tCbI ~ 

0.05 = 1.98 

0.01 = 2.62 

cp~ 9 crt cf5 tlJ I cAl U I 3m ~~ fcrITrfcfm cf5 m '2"1 CHI Gi <'11 cf5 

m <t~UI mefcp 3R=R 'G1it ~, ~ ~~ qRCb(VqGiI 3R41qz<'1 M ~ I 

it -q?tmur 'R 'IDtO it CJTUTGIT ~ 2.9 8 ~ ~ ~ it. 

C11fc:tCbI cf5 1 1 8 dfcf5 0.05 3m 0.01 RR cf5 ~ 'R ~ ~ I 

$'2"1fc:tQ ~ ~~ qRCb(VqGiI 3R<:flqz<'1 cBT '\5lT'Cfi ~ I 
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RIE Li
bra

ry 
Bho

pa
l



CtIRttCbI ¢Cf1icp-4.5 

"iR ~ m ~ d1~ Cf1IGlq") ~~T It' 

(M) 
m'tklGl 

(df) tRT~ 
(S.D.) ~ 

m ~~ el5llQ 30 81 .1 6 2.64 
'2"i Cf11 Gl C'li 
cf5m 58 8.19 

~~ t9l?T 30 69.83 7.1 5 ctflZ<i1 0 I 

58 dfCf>T iT C'l1fc1Cf)1 ~ 

0.05 = 2.00 

0.01 = 2.66 

'Cf)~ 9 eft cf5 ~~ BT?f 3~ 01 51 I Q cf5 fRcn' '2"i Cfli Gl C'li cf5 '!lfcr 

~lol cff ~ mefcp 3m em 6, ~ ~~ qRCf)&QGlI 3fl<1lCllC'l il<lT 

~I 

iT tRT~ ~ 'Wl{1 iT <JTOTGIT ~ 8. 1 9 ~ erg ~ iT. 

C'l1fc1Cf)1 cf5 58 dfcf5 0.0 5 3~ 0.01 «R: cf5 ~ ~ ~ ~ I 

$'2"ifc1Q 'lf6 ~~ qRCf)(.YQGlI 3R<ftCQC'I q5T 'GffCft ~ I 
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RIE Li
bra

ry 
Bho

pa
l



"'tR ffi m ~ Cff~ (ff 1 GlCP ~~T 't' 

(M) 
W'ClC1Gl 

(df) -qiT~ 
(S.D.) ~ 

m CU 1 an 01 t!>15IIQ 30 81. 1 6 7.l5 

'2"1 (ff 1 Gl ('11 
58 1.94 

c5m CU 1 an 01 7.48 BT?f 30 75.5 

~Ro:t))ol 

0.05 = 2.00 

0.01 = 2.66 

it -qiT~ -R W1<l it CJ"fUTGlT ~ 1.9 4 ~, "lf6 ~ it. 

('11k1Cf)1 c5 58dfc5 0.05 3m 0.01 «R c5 ~ -R Cf)cff~, $'2"1k1Q 

"lf6 ~~ QRCf)(.YQGlI '241'12('1 qft \JfICft ~ 1 
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RIE Li
bra

ry 
Bho

pa
l



qRcpdQGlI- 5 cplffi 9m c5 <lllcHlul 1:91311Q 3fu ~l6iT 1:9131IQ ~ m 
"2"IJiIGt<'11 m m <t~ 01 -a1 ~ meW 3RR ~ ~ 1 

~ ITvm It' "iR ~ "d1tl.1Cf1lGf CFlIGtc.p ~~T 

(M) 
WilC1Gt 

(dt) -cRT~ 
(S.D.) ~ 

ITvm <) •. :11 a:fl 0 1 8>13IIQ 30 81.5 5.37 
"24 CFlI Gt <'11 58 0.75 mm ~rRt 8>1?lIQ 4.95 
<tf~ol 

30 81 .1 7 

58 dfcnr iT <'11k14>1 ~ 

0.05 = 2.00 

0.01 = 2.66 

c5 m ~~UI "J1 ~ mclcP 3m GTtT %, c:rc; ~~ QR4>(YqGlI 

81142<'1 iRft ~ 1 

iT -cRT~ -R ~ it CJTUlGIT ~ 0.75 g, ~ ~ it. 

<'1lf(14)1 m 58 dfm 0.05 31h: 0.01 «R m ~ -R CDcJl~, $"24k1Q 

~ ~~ QRo4>(YqGlI "2<fl42<'1 qft urrcft" ~ 1 
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RIE Li
bra

ry 
Bho

pa
l



qQctl(.YQGlI- 6 cPcffi" 9cft cf> <illcH1ol BT5IT 3~ ~~ BT5IT -at fMcn­ 

'2"1 <f11 Gi (11 cfl m ctRc;q;) 01 -at ~ mefcp 3fcR ~ ~ 1 

"'ER ffi m ~ CFf~ <f11 Gico ~~T It' 

(M) 
fcli1C1Gi 

(df) lRtmuT 
(S.D.) ~ 

m tlll <fft 01 EJ?T 30 77.5 7.48 
'2"1 <f11 Gi (11 
cflm ~rRT 58 4.1 

EJ?T 30 69.83 7.14 
ctflZCPlol 

0.05 = 2.00 

0.01 = 2.66 

cPcffi" 9 eft" cfl tlll cH1 01 BT5IT 3tR ~rRT BT5IT cfl m '2"1 Cfil Gi (11 cfl 

m ctfQ;q))OI -ar ~ mclcP 3fc:R GJ"tt ~, erg ~~ qRCf)(.YqGiI 3RcftCQ(1 

if lRtmuT -R mr<1 if m ~ 4. 1 ~ erg ~ if. (1lfcr1Cf)1 

cfl 58 dfcfl 0.05 3tR 0.01 «'R cfl ~ -R ~~, $'2"1fcr1Q erg ~~ 

qRCf)(.Yq Gil 3R4lCQ(1 cBT "GfTill ~ I 
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RIE Li
bra

ry 
Bho

pa
l




